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Question Number : 1 Question Id : 342604801 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
{22
o

Options :

1-[-2.2], g:[-2.2] > [0.4] are two functions defined as
r
%

-2<x<0
-2, 0<x<2 and g(x)=|/ 0]+ (). then
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f and g are injective mappings

1%
f and g are surjective mappings
2.
f 1s biyjective mapping and g 1s injective mapping
3. %
f 1s not byjective mapping and g 1s surjective mapping
4. %

Question Number : 2 Question Id : 342604802 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The domain of the function f(x)=

-
—’—x‘_x 1S

Options :

R
1. %

(~0.0)
2.

:
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(0,0)
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Question Number : 3 Question Id : 342604803 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O

Forany neN, 4" +15n—1 1s divisible by

Options :

2
1. %

9
2.

%
3. %

6
4, %

Question Number : 4 Question Id : 342604804 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Correct Marks : 1 Wrong Marks : O
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1 a 3
3

fP=/1 3 3|1stheadjomtofa3x3 matrix A and det(A) =4, then o=
2 4 4
Options :
22
1.%
11
2.
3
3. %
4
4.%

Question Number : 5 Question Id : 342604805 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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a py
If la b ¢
[ m n
Options :
1.

m n |

b ¢ a

pyv a

. then the least value of K 1s
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(B

3
2.
3. %

5
4. %

Question Number : 6 Question Id : 342604806 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O

If the system of equations x+y+z=1 x+2y+4z=K, x+4y+102=K" 15

conststent then K =
Options :
-
1. %
S
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Question Number : 7 Question Id : 342604807 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

z—3i :
=0 1s

The locus of z = x +iy such that Im| -
iz+4

Options :

1. %
2 2

x +y —Ty+12=0
2. %

x*+3y*—Ty+12=0 and (x,y) #(0,4)
3. &

x> —y*+7y—-12=0 and (x,y) # (0,4)
4. %
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Question Number : 8 Question Id : 342604808 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O
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: : 0% 01 4
If w1s a complex cube root of unity, then cos (0) +0 )ﬂ_Z =

Options :
&
Na
1. %
1
2
2. %
ﬁ
£
3. %
b
J2
4.

Question Number : 9 Question Id : 342604809 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

/. 11
2(z+1+3%)"

If z, and z, are the 1oots of the equation ¥4 20+2=0. then — =
. ) a1l
2'(z,+1-3))
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Options :

64
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S
)

2. %

1642
3. %

N
4. %

Question Number : 10 Question Id : 342604810 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O

7+\/ﬁi

Let f(x)=ax’ +bx+cand GCD of 0, b, cis . I _T is a oot of f/(x)=0 and
f ll ~L =(x+4)(3x-5) thenkand L are respectively
Options :
1,—-15
1. %
L, 23
2.¢
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Question Number : 11 Question Id : 342604811 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O

| ¥ x4l

For VxeR the mmmum value - and the maximum value 3 of exist at [

j)
X =¥+l

and m respectively, then [+ m =

Options :
—22
1. %
0
2.
17
3. %
=
4, %
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Question Number : 12 Question Id : 342604812 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O
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If 2 and 3 are the two roots of the equation 20° +mx” ~13x+1 =0, then the values of
m, 1 are respectively

Options :

—3.~30
1. %

-5, 30
2.

3, 30
3. %

5, =30
4, %

Question Number : 13 Question Id : 342604813 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If -1+ is a root of the equation x* +4x” +5x” +2x—2=0, then the real roots of this

equation are

Options :
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Question Number : 14 Question Id : 342604814 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

By using the non-zero digts, the number of 5 digit numbers that can be formed so that
each number has largest digit m 1ts muddle place and the digits n the number are

different 15

Options :

9
>P,

1.x =4
8 8
I 7
2. B2 5
r=4 r=4
2. %
S
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Question Number : 15 Question Id : 342604815 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

I’ denotes the number of triangles that can be formed with the vertices of a regular

polygonof msides. If T, -T =15, then m =

Options :

3
1. %

6
2. ¢

9
3. %

12
4, %
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Question Number : 16 Question Id : 342604816 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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221

X——=
Jx

The term mdependent of x in the expansion of 18

Options :
, 15
1. %
9., 9™
2. ¢

Question Number : 17 Question Id : 342604817 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O

T
If the set of all values of x for which the expansion of (7-5x) ’ valid 1 equal to
(- a), then Sa+7=

Options :
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2. %

0
3. %

12
4. %

Question Number : 18 Question Id : 342604818 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O

b |

o ¢ 5 . . 3 .
The coetficient of x”1n the expansion of | |——x | 1s

4
Options :
27

1024
1. %

—27

1024
2.

®
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81
1024

Qcollegedunias

~



—81
1024

Question Number : 19 Question Id : 342604819 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

o 32x%+186x  37x+1 A A
It — =————+—— then —=
(x“+1)(x+5) ¥+l x45 2
Options :
-5
1. %
=
)
2. #
—3
2
3. %
9,
4.
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Question Number : 20 Question Id : 342604820 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0

The period of tanky +sinky, where k=1+4+9+.....20 terms, 1

Options :
T
1435
1.+
27
1435
2. %
A
3. %
27
4. %

Question Number : 21 Question Id : 342604821 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O

\ 11 . T B
If cot4=—, cosB=— and neither 4 nor B 15 i the first quadrant, then A+—J

L
0 )

lies m the quadrant
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II

2. %

I11
3. %

I\f
4. %

Question Number : 22 Question Id : 342604822 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

50 g B B €
Ina A ABC. if cosA+cosB+cosC:a+bsm—7—sm7sm—7-. then a+b=
Options :
3
1. %
0
2. %
®

:
gcollegedunlaa
India’s largest Student Review Platform



Qcollegedunias

~



Question Number : 23 Question Id : 342604823 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O

\/gcos ec 20°—sec 20° =

Options :

|
1. %

2
2. #

3
3. %

4
4.«

Question Number : 24 Question Id : 342604824 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O
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. . . 2 . 2
The common solution set of the equations 2sin” x+sm”2x =2 and
sin 2x +os 2x = tan x 18

Options :
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xeR/x:(2n+1)§,neZ

1.¢
T
xeR/x:(.?nJrl)z,n eZ
0. %
T
xeR/x=(4n+l)§,neZ
3. %
| Vs
lxG]R/x:(4n—l)§,nEZ
4. %

Question Number : 25 Question Id : 342604825 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O

2Tan™ l +Tan™ l -
3 7

Options :

%
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Tan

49

29
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o | N

0
3. %

T

4
4. &

Question Number : 26 Question Id : 342604826 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O
If cosh2x =241, then cothx =

Options :
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Question Number : 27 Question Id : 342604827 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O

: B = A :
In a triangle ABC, if a+¢=>5b then cot7cot— =

2
Options :
2
1. %
1
9
2. % -
3
2
3.¢
3,
3
4. %
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Question Number : 28 Question Id : 342604828 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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. a X A 3b
Ina AABC. if acos”—+ccos” — =—_then
2 2 2
Options :
2b=a+c
1. ¢
)
b- =ac
2. %
2ac
o) o
b' —
- a+c
a+b+c=1
4. %

Question Number : 29 Question Id : 342604829 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In A ABC.if B+ C =72° then | 14942 |[146-2 )=
g i€ b b
Options :
24+445
1. %
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2. %
5.2
4
3. %
5.5
4. 2

Question Number : 30 Question Id : 342604830 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
In a AABC, 11,1 tespectively denote the radius of excircles opposite to the

vertices A, B, C and r denote the raduus of the mercle. If p,, p,, p;respectively are

)i

. r . b, W I
the altrtudes of the triangle from the vertices A, B, C then | —4 —+— | =
b b P

Options :

L 2 AW .

—t—t—| 7

h 5% 5
1. %
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(SW]

I S
h I 1~
3. %
o g S
4. %

Question Number : 31 Question Id : 342604831 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O

If x and y are real mumbers such that, i+ +k, -2i +3j +2k, xi-5j+3k,

i +1j -k are the posttion vectors of four coplanar pomts, then the locus of P(x, y) 15

Options :

X L3N 5 =0
1. %

(x+5)(¥y+3)=60
2.¢ |

2

(x+3) =5(y+5)

3. %

%
gcollegeduniag
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Question Number : 32 Question Id : 342604832 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The direction cosines of the supporting line of the vector 7 + j -2k are

Options :

LY
2 2
2. %
1 1 2
. W6 V6 V6
= e
2" 2
4. %

Question Number : 33 Question Id : 342604833 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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The perpendicular distance from the pomt P (3, 5, 2) to the line L passing through the
point 2i+ 7 and parallel to the vector i+ 5; +2k s

Options :

1.

gcollegedunias



2. %
V6
5
3. %
76
4. %

Question Number : 34 Question Id : 342604834 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : O
Suppose ABCDE 15 a pentagon. The resultant vector of the vectors

AB. AE. BC.DC. ED and AC is

Options :

3AC

1.«

%
:
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<1
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S}
M
v

E\)
>
co

4. %

Question Number : 35 Question Id : 342604835 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If;:;+;+;, Ez?—[ axb=c and a-b=3,then b =
Options :

< (57+2]+2F)

1. ¢ 3

~(2i+55 +2k)
2. % )

(27 +27+5%)
3. % B
4.
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Question Number : 36 Question Id : 342604836 Question Type : MCQ Option Shuffling : Yes
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Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O

If the cartestan equation of the plane passing through the point i+2j+k and parallel

to the vectors 2}+3}+/_\' and—;'+2}—3/_\' 15 av+by+cz =1 then 18(1 atb+c)=

Options :

-3
1. %

3

2.
3. %

—4
4. %

Question Number : 37 Question Id : 342604837 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
The mean deviation about the median of the discrete data 12, 15, 7,4, 4, 15,23, 14 15

:
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Options :
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2. %

13
3. %

10
4. %

Question Number : 38 Question Id : 342604838 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

[n a college 40% students attend Mathematics class, 30% students attend physics class
and 20% students attend both the classes. If a student 1s chosen at random from the
college, the probability that the student chosen attend only one class 1s

Options :
3
10
1.
|
3
2. %

:
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Question Number : 39 Question Id : 342604839 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A and B are the two groups of books. Group A consists of § science and 5 engineering
books and the group B consists of 6 science and 7 engmeering books. When an
unbiased die 1s tolled, 1f 2 or 5 turns up, a book 1 selected at random from the group
A, otherwise a book 1s selected at random from the B group. When an unbiased die 1s
tolled, the probability of selecting a science book 1

Options :
13
24
1. %
34
35
2. %
'
13
36
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39
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Question Number : 40 Question Id : 342604840 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O

Two friends A and B meet every weekend erther at a party or at a Sports Club. The

probability that they meet at Sports Club 15 =. The probablity that they will dine

together at a party and at the Club are respectively = and =. On a certain weekend

the probabulity that they disperse without dine together

Options :
86
135
1.
E
27
2.
ﬂ
2,474
3.

:
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Question Number : 41 Question Id : 342604841 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O

The probability function of a discrete tandom variable X is given by P(X=r)=Ki"".
where r=-2.-1.0.1 2.3 and K 15 a constant. The sum of the variance of X and the

square of the mean of X 1

Options :
81
19
1. %
2
19
2. %
g
19
3. %
us
19
4.
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Question Number : 42 Question Id : 342604842 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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If a random vartable X denotes the number that appears on the upper face of a die

; Vartance of X
when 1t 15 rolled, then —————=
Mean of X
Options :
7
7,
1%
35
12
2. %
5
6
3.
9
)
4. %

Question Number : 43 Question Id : 342604843 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

:
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Let S be the set of pomnts on X-axis Iying at a distance of d units from (3,4). Which of
the following 1s true?

Options :

1.

gcollegedunias



S 1s an empty setif d <4

S contains infinitely many pomts if d <4

2. %

S contains at least two points if d =4
3. %

S contains exactly three points for any d > 4
4. %

Question Number : 44 Question Id : 342604844 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O

If the coordinate axes are rotated m positive direction by 45 without changing the
origin, then the transformed equation of 3x*+3y*+21y-2=0is

Options :

X% +Y¥Y2 =1

1. ¢

:
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X2 £ 2¥ %=1

X2 *=1

Qcollegedunias
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X ¥ =1

Question Number : 45 Question Id : 342604845 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the equation of a line parallel to 3x-2y+5=0 and at a distance of 5 umits from 1t
15 31-2y+C=0,thenC =

Options :
(12413
1. %
5(=v13+1)
2.

(521

:
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Question Number : 46 Question Id : 342604846 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0

If a line L passes through the pomt of mtersection of the lines 2x+3y+1=0 and

1+7-3=0 and the angle made by the line L with X-axis measured 1 positive
N .. 42 L
direction from the positive X-axis 1s Tan e then the sum of the tntercepts made by

this lime on the axes 1s

Options :
=
41
1. %
205
6
2. ®
5
41
3. %
o
6
4.

gcollegedunias



Question Number : 47 Question Id : 342604847 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O
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Match the 1tems given in List-] to the items given in List-IT

List-[

A) Line passing through (~4,3)and having intercepts 1)

m the ratio 5:3

B) Line passing through P(2,-5) such that P bisects 11

the part mercepted between the axes
() Lme parallel to 2x-3y+5=0 with x~1ntercept
2
- 18
5
D) Line perpendicular to Sx+2y+7=0 with

) - Infercept - 1S

The correct match 15

Options :
A B C D
II ¥ Al 1
1. %
A B € b
V I HI. Jl
2.

Im)

V)

List-I

2x-5y+4=0

r+dy=3

10r-15y+4=0

10y-15y=4

Sx-2y-20=0

gcollegedunias
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Question Number : 48 Question Id : 342604848 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If (k) is the image of the point (2,-3) with respect to the line Sx—3y =2, then

htk=

Options :

—3

:
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Question Number : 49 Question Id : 342604849 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

[f the product of the lengths of the perpendiculars drawn from the pomt (=1, 5) to the

. Nyt ) ) .
patr of lmes 2x™ -y +hy"+6x+y+4=0 15

Options :

56
1. %

33
2. %

57
3.

35
4. %

.~

I

\ )
then 37k" +92k
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Question Number : 50 Question Id : 342604850 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O
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If the paur of lines jomning the origin to the points of mtersection of the line x+y =1
with the curve x”+y"+2hxp+ ge+ fy+1=0 are at nght angles, then the pomnt

(¢.f) lies on the line

Options :
2x+y=>5
1. %
x—y=4
2. %

x+1y+4=0
3.v

o
+
)
A
I
N

Question Number : 51 Question Id : 342604851 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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The circle x=3Scosf,y=>3sim6 1s bounded by the rectangle formed by the lines
y16=0and y+6=0. The area of the triangle that lies mside the rectangle which 1s
I

formed by the tangent at P[ 3

) to the circle with two of the above given lmes 1s

Options :

1.

gcollegedunias



2
2. % -
48 ++3
3. ®
1(63-4)
2\
4,

Question Number : 52 Question Id : 342604852 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O

P : ) 2 ) ) )
If the two circles x”+y"-2x-6y+10-r"=0 and 2"+ -8x+2y+8=0 have a
common chord of non-zero length, then

Options :

:
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Question Number : 53 Question Id : 342604853 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

. ) ) ) ) .
The angle between the cicles x”+y"-2v-9=0 and x"+y -4y-1=0 at theu

pomnt of intersection 1§

Options :
T
1. %
T
2. 4
T
3
3. %
T
2 gcollegeduniaz
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Question Number : 54 Question Id : 342604854 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O

If two circles touch at (0,0) externally, then their radical axis 1s

Options :

X=y or x=-—y

» >

1. %
does not exist
2. %
any line passing through (0.0)
3. %
their common tangent at(0,0)
4.

Question Number : 55 Question Id : 342604855 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O
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If the straight line xcosa + ysinet = P intersects the circle ¥ +°=4" at Aand B

then the equation of the circle with diameter AB 1s

Options :

1.
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2 2 . 2 2
X" +y —2Pxcosa—-2Pysma+2P"—a" =0

2 2 . 2 2
X +y"+2Pxcosa—-2Pysma+2P +a” =0

2. %

2 2 o) : , 2 2

x° +y—2Pxeosea+2Pysma—2P =aqa*=0
3. %

) 2 - 2 2

X“+y —2Pxcosa—2Pysma—-2P " +a" =0
4. %

Question Number : 56 Question Id : 342604856 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O

The area of a triangle (in sq. units) formed by the latus rectum of the parabola
v =16y and the lines joining the vertex of the parabola to the ends of the latus
tectu 18

Options :

24
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Question Number : 57 Question Id : 342604857 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If (2, k) 1s a potnt on the parabola passimg through the pomts (1,=3), (1. 5), (0, 2)
and having tts axis parallel to the Y-axs, then =

Options :
—10
1.
3
2. %
—7
3. %
5
4. %
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Question Number : 58 Question Id : 342604858 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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3 .l

. Xy . -
The ellipse —+==1(h>a) and the parabola y*=8ar cut at right angles. e is
a b

the eccentricity of the ellipse, then ¢’ =

Options :
1
4
1.
=2
16
2. %
|
8
3. %
i ]
64
4, %

Question Number : 59 Question Id : 342604859 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O
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The coordinates of any point, m the parametric form, on the ellipse whose foct are

(=2,0), (8, 0) and eccentricity k3 18

7
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Options :

(5\/_2_ cos @.5s1n (9)
1. % |
(3+5\/5cos(9,55in¢9)
2.
(3 +5cos ,5\/531119)
3. %
(5cosb”,3+5«/§sin9)
4. %

Question Number : 60 Question Id : 342604860 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The focii of the hyperbola 5x* =6y —=10x—24y—-34=0 are

Options :

33
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Jit

2t—— 2

VA
3. %
liﬂ,—?.
\/5 .
4.

Question Number : 61 Question Id : 342604861 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O

A2, 3,-4),B(-3,3,-2), C(-1,4,2), D@3, 5, 1) are the vertices of a tetrahedron. If G,
Gy, Gy are the centroids of the three faces having the vertex D i common, then the
centrotd of the triangle GGy G 1s

Options :

(0.0, 0)

(5 35 —SJ
9" 9 3

- - collegedunia:
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Question Number : 62 Question Id : 342604862 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O

Suppose the distance of a pomnt P from the origin O 15 63. If the direction ratios of the
line OP are 3, =2, 6 then the coordmates of the pomt P 1

Options :

(—27,.18,54)

1. %

(27,—18, —54)
2. %

(27,—18, 54)
3. ¢

(—27,—18, —54)
4, %

Question Number : 63 Question Id : 342604863 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

:
gcollegedunlar@
India’s largest Student Review Platform



The volume (i cubic units) of the tetrahedran bounded by the plane 3x+4y -5z =60

and the three coordmate planes 1s

Options :

1.
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60

720
2. %

600
3.¢

4800
4. %

Question Number : 64 Question Id : 342604864 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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does not exist
4. %

Question Number : 65 Question Id : 342604865 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O

7.\'_7".\'
TR == .
If the function defmed by f(x)={ . 15 contmuous at x = ( then ¢" =
k x=0
Options :
2
log| —
1. % .
log4
2. %
4
3.¢

%
:
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Question Number : 66 Question Id : 342604866 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

. 2smx —sin 2x
lim - —
.\'—)O '-\»'

Options :

1.¢

Does not exist

Question Number : 67 Question Id : 342604867 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If f:R->R, isdefinedas f(x)=

x+l|+|x—l|, then f(x) 1s

:
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Options :

not differentiable at every real number
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not differentiable at —1 and 1 only
2.¢

not differentiable at —1, 0 and 1

differentiable on R

Question Number : 68 Question Id : 342604868 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

X +x x+l x-2
If f(x)=2x"+3x—-1 3x 3x-3|, then di(f(x)):
©+2x+3 2x-1 2x-1 !

Options :
24
1.
0
2. %

. gcollegeduniag
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Question Number : 69 Question Id : 342604869 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Let fand g be two differentiable functions satisfying ¢'(5)==, g(5)=6 and g= "

= | o

Then f'(6)=

Options :

o | —

w | o | —

W | &

:
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Question Number : 70 Question Id : 342604870 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0

- 2
It y=x+tanx. then cos” x

»

Options :
—2y
1. %
2
_J'
3
2. %
3y
3. %
2y
4.

Question Number : 71 Question Id : 342604871 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O

The semt vertical angle of a right circular cone 15 30°. If the height of the cone 15
6.125 cm, then the approximate value of the volume of the cone (in cubic cm) 1s

Options :

d

dx

2

-

3

v

+ 2%
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(76.5)7

2. %

487
3. %

(25.5)x
4.

Question Number : 72 Question Id : 342604872 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The equation of the normal drawn to the curve y =sim3x at x=— s

Options :
J3
J‘ e —
2
1. %
V2
J‘ T ee—
3
2. ¢
%
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Question Number : 73 Question Id : 342604873 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

/Y

Suppose A, B, C and D are the 4 mtersection points of the curves 1\—8+% =1 and

g y2 =5 m 1% M 34 gpd 4% quadrants respectrvely. If 6,6,,6,andd,

respectively are the angles between the curves at A, B, C and D, then

Options :

O +0,+#6,#0,

1. %
6,=06,;06,=0,:6,+6,
2. %
6,=6,.6,=6,:0, %06,
3. %
o

:
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Question Number : 74 Question Id : 342604874 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

—(x-6) -3, x<4
i :[2,10]—>R is defined as f(x)= 2(\ % § . Which of the following
A DY
1 true?
Options :

f(2)= 1 (10)

f (x)1s not continuous on [ 2,10]
2. %

Rolle’s theorem is not applicable for f(x)in [2,10]

3.¢¥

Rolle’s theorem is applicable for f(x)in [2,10] and Rolle’s pomt ¢ = 6

Question Number : 75 Question Id : 342604875 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O
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[ =

1+ x®
Options :
s L
1. %
T o
—Tan (x7)+C
2.¢
log(l+x3)
3. %
1 :
4 =ik
I+
4, %

Question Number : 76 Question Id : 342604876 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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1.
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L 2 2\
——)(,\‘ — )‘+C
a
2. %
r
— +C
2 2 2
a(+* -a’)
3.¢

Question Number : 77 Question Id : 342604877 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
)
For x>0, j X"+ 2xdx=

Options :

:
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x+1 1= ... ... (]
x? +2x +—Sinh 1u+(‘
2 2 2
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x+1 > | SR
x° +2%+—Sinh™ (¥+1)+C
2 2
x+1 < 1 e o |
x“+2x—;Cosh 1u+c
3. % - - -
x+1 7 | % =
— ¥ +2x—;Cosh M+ +£C

Question Number : 78 Question Id : 342604878 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Jdr/ 4 dx

74 1+ cosx

Options :

T—2

T+ 2

4 gcollegeduniag
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4.

Question Number : 79 Question Id : 342604879 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O

/i

I X f(sinx)dxy =

0
Options :
7%
27 .[ f(sin x)dx
0
1. %
%
T I f(sinx)dx
0
2. %
27 I f(smx)dx
3. % .

:
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Question Number : 80 Question Id : 342604880 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The general solution of

¥
Options :
1‘4 4(
log = -
1+ 1 9
1.
L y* Ly A 3x°
A=\ Ty ./ -2
- 2+ 3x>
] y* 4 1
—log l — |= 5 =+C
- TV 2+ 3x°
4 3
y | |
log| —— |== =+C
y 1+ 9 24327
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Physics
Section Id : 34260417

Section Number : 2
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Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Online
Mandatory
40

40

40

Yes

1
34260417

Yes

:
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Question Number : 81 Question Id : 342604881 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The strongest force among the following forces in nature 1s

Options :

Weak Nuclear force

Strong Nuclear force

Electromagnetic force

Question Number : 82 Question Id : 342604882 Question Type : MCQ Option Shuffling : Yes

Gravitational force
4

:
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Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O

Consider a sertes of measurements of the length of a box 1n an experment. The readings
are 24 m, 2.5m, 2.6 m, 2.8 m, 3.0 m. What would be the relative error?

Options :

0.110
1. %

0.089
2.

0.079
3. %

0.072
4.

Question Number : 83 Question Id : 342604883 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O
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For the followng velocity- time graph, the average speed for the motion during first
80 seconds 15

-10ms }

Options :
0

1. %

5m/s
2.

10 m/s
3. %

025 m/s
4. %

Question Number : 84 Question Id : 342604884 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0
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A ball thrown upwards vertically reaches a height 25 m i 1's. The ratio of total distance
covered by the ball in time t=2 s and t=4 s is (use g = 10 m/s”)

Options :
1
1. %
-
2.9 5
3. % 3
3
4
4. %

Question Number : 85 Question Id : 342604885 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O

Car A 15 moving to the east with a speed of 30 knvhr, and car B 15 moving to the
north with the same speed. What 15 the velocity of car B as measured m car A?

Options :

42 km/hr, 45 north of west

4

:
gcollegedunlas
India’s largest Student Review Platform

42 km/hr, 45 east of north

#®



gcollegedunias

~



60 km/hr, 45 south of east
3. %

42 km/hr, 45 south of east

Question Number : 86 Question Id : 342604886 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Attime t =0, a particle leaves the origin and moves 1 the positive direction of the

=10m/s

X- axis. If the velocity of the particles vartes as V(r):Vo l—i : ‘VO
{

and t,= 10, then the distance covered by the particle during the first 20 s 1s:

Options :

200 m
1. %

100m
2.

Om
3. %
4.
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400 m

Question Number : 87 Question Id : 342604887 Question Type : MCQ Option Shuffling : Yes
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Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O
A bullet of mass m enters a wooden block of length L at a speed v, and emerges

out of block with a speed v,. If F' 1s the average force which impeded its motion

through the wooden block then correct statement 1s
(Assume umform deceleration mside the block)

Options :
= m ) o)
F:—— ,)" — V.,
- (v -w’)
1.4
—_ m 4
F:-— /,)" 3
™ (2 )
2. %
—_ m )
F=22 (v,
3. %
o m 2
F=— (v, +
o7 (v, +n)
4. %

Question Number : 88 Question Id : 342604888 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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A car 15 moving with velocity V at the top of a semi-circular hill of radms 40 m
such that the normal force on 1t 1s zero. Find the velocity (V) of the car.

9]
[use g =10 ms™]

Options :

15 ms™!
1. %

20 ms~!
2.

30 ms™!
3. %

40 ms™!
4. %

Question Number : 89 Question Id : 342604889 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O

If the average terminal velocity of rain drop is 2 ms™, then the energy transferred
by rain to each square meter of the surface at a place which recetves 100 cm of rain
112 year is

Options :

I ¥ 161

3 gcollegedunias
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3 31021

2.% 10%7

Question Number : 90 Question Id : 342604890 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O

- A
A horizontal force F:(g - xz)i N acts on a wooden block resting on a horizontal

smooth surface. The work done to move the block from x =0 to x =3 m (n Joule)
is (use g = 10 m/sY):

Options :

24
1. %

35
2. %

30
3. %

04 |
4.
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Question Number : 91 Question Id : 342604891 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O
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A 750kg boat 1s 10 m long and 1s floating without motion on still water. A man of
mass 80 kg 1s at one end and 1f he runs to another end of the boat and stops, the
displacement of boat 1s

Options :

1.8 m 1n the direction of displacement of man
1.%

0.96 m 1n the direction of opposite to the displacement of man
2.

0.96 m 1n the direction of displacement of the man
3. %

1.8 m 1n the direction opposite to displacement of man
4. %

Question Number : 92 Question Id : 342604892 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O

A wheel of mass 20 kg and radms 30 cm 15 rotating at an angular speed of
80 rev/min when the motor 1s turmed off. Neglecting the friction at the axis,
calculate the force that must be applied tangentially to the wheel to bring 1t to rest
n 3 revolutions.

Options :

L

:
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1.06 N
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3.06 TN
3. %

4.06 TN

Question Number : 93 Question Id : 342604893 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O

A paticle executes smple harmonic motion according to the equation
X(t)=Asin’ (at). If the time period of the S.H.Mis 0.2 s, then the value of @ (in

units of rad/s) 1s

Options :

279K
1. %

10 1T
2. %

51
3.

2.5 1%
4. %
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Question Number : 94 Question Id : 342604894 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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A satellite revolving around the earth at a certamn height experiences acceleration
. 16 . . .
due to gravity equal to m g, when go 15 the acceleration due to gravity on the

earth’s surface. If R 1s the radius of earth, then the square of time pertod of the

13

< y TR -

satellite’s revolutton 1 equal to K| ——1. The value of K 1s:
]

Options :
2—7R3
36
1. %
ﬁ R?
16
2. ¢
E R?
64
3. %
ﬂ R’
81
4. %

Question Number : 95 Question Id : 342604895 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Correct Marks : 1 Wrong Marks : O

The volume of a matertal reduces by 2 % when the pressure 1s increased from
[ atm to 2 atm. What 15 1t’s bulk modulus?
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Options :

10° N/m?
1. %

5x10° N/m’
2. %

10° N/m’
3. %

5 x10° N/m’
4.

Question Number : 96 Question Id : 342604896 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The work done 1n breaking a drop of liquid of radrus R (Surface tension T) mto
04 equal drops 1s:

Options :
ArR*T
1. %
TR*T
) 64
1272T

2 .
. R* gcollegedunlag
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(S

12z R T

4.

Question Number : 97 Question Id : 342604897 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

‘ - =]

[na horizontal tube the water pressure changes by 1500 N between A and B as
v . ~ 7

shown n figure below. The cross sectional areas at A and B of the tube are 40 cm’

and 20 em” respectively. Find the rate of flow of water through the tube

Options :

1000 cm’s ™

1. %

2000 em’s ™
2. %

4000 em’s™
3. ¢

6000 cm’s™

® gcollegedunias
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Question Number : 98 Question Id : 342604898 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The moment of mertia I of uniform rod about a perpendicular bisector mcreases to
[+ Al if the temperature 15 mcreased shghtly by AT. If the coefficient of linear

- Al
expansion 1s ¢ then 1 1$

AT
Assume=—<< |
!
Options :
a AT
1. %
2a AT
2.
3aAT
3. %
4 o AT
4. %

Question Number : 99 Question Id : 342604899 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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An 1deal Camnot engme whose efficiency 15 50%, recerves heat at 500 K. If the
efficiency 1s to be 60%, the mtake temperature for the same exhaust temperature 1s

Options :

1.

gcollegedunias



600 K

625 K
2.

650 K
3. %

700 K
4.

Question Number : 100 Question Id : 342604900 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

An engme performs 2000 ] of mechanical work and discards 4000 I of heat each cycle.
What 15 the thermal effictency of the engine?

Options :
45.5 %
1. ®
31.4%
2. %
25%
3. %
o

:
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Question Number : 101 Question Id : 342604901 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

. N o R Y N .
A polyatomic gas follows a law T°V* = constant. Find ‘e for which the heat
exchange of gas 1 the process becomes zero

Options :
. g=3/2
- G=2/3
- a=4/3
' a=3/4

Question Number : 102 Question Id : 342604902 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O

A molecule 15 travellmg m air at 300 K and 1 atm, and the radius of the molecule 1s
0.6 x 10" m. Calculate the approx. mean free path of the molecule. (the mumber
density is 244 X102 molecules / o)

Options :

2 <
Oixl() m

T

g :
collegedunias



gcollegedunias

~



0.3

—x10°m
T
%xl()sm
3%
Exlo'5 m
T
4, %

Question Number : 103 Question Id : 342604903 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O

A wire vibrates at a fundamental frequency of 500 Hz. A second identical wire produces
5 beats per second with 1t when the tenston m the first wire 1 slightly decreased. The
ratio of the tenston i the second wire to the tenston 1 the first wire 15 approximately
equal to;

Options :
1.04
1. %
1.01
2. %
%
gcollegedunias
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Question Number : 104 Question Id : 342604904 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O

A convex lens with lateral magnfication 2 15 used to 1mage a pomt at the bottom of a
tank. The image of the pomt 1s formed 60 cm above the lens. Now a liquid 1s filled mto
the tank to a height of 24 cm. It 1s found that the distance of the image of the same pomt
1 10w 120 cm above the lens. Find the refractive index of the liquid.

Options :

Question Number : 105 Question Id : 342604905 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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[n Young's double slit experiment, point A on the screen has a path difference of /

A

and pomt B on the screen has a path difference of —. What 1s the ratio of the mtensities

at pomt A to B

gcollegedunias



Options :

|
1. %

2z 1
2.

l:2
3. %

- N |
4. %

Question Number : 106 Question Id : 342604906 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

A thin non - conducting rig of radrus 1 has a lmear charge density 4=/ cos¢, where

4, s aconstant and ¢ 15 the azimwuthal angle. The magnitude of the electric freld strength

at the centre of the rng 1s:

Options :

L g

dre, r

%
gcollegeduniag
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de,r
/\rO
28, T
4. %

Question Number : 107 Question Id : 342604907 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O

In the following figure C,=5pF, C,=C,=I0yF and ¢ =20V Inttially the switch S 15
connected to pomnt A until capacttor C,1s fully charged. Afterwards switch 1s thrown to

left s1de and connected to pont B. The charge on capacttor C, after equilibrium 13

reached will be
B A
05,0
¢ 3 ( ) ( | ¢=20v
Options :
40 uC
1. ¢ “
%®
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100 nC
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50 uC

20 pC

Question Number : 108 Question Id : 342604908 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A wire, 10 m long, has a resistance of 40 Q. It 1s connected m seres with a resistance
box of resistance R and a 2 V storage cell. If the potential gradient along the wire 1
0.1 m V/em, the value of R 1s :

Options :

260 Q
1. %

760 €
2.

960 Q
3. %

1060 Q
4.

:
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Question Number : 109 Question Id : 342604909 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Force acting on an electron moving with velocity V ina magnetic field B is (e is the
charge of electron)

Options :
¢(VB)
1.¢
 <vB)
v
E=
3. % b
o2
4, % =

Question Number : 110 Question Id : 342604910 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Two ctrcular cotls P and Q are made of two 1dentical wires of the same length. The
number of turns i the P and Q are 4 and 2, respectively. The magnetic mductions at the

centre of P and Q are By and B respectively. The ratio B—"is:

(]

Options :

gcollegedunias



2.¢

0.5
3. %

2
4.%

Question Number : 111 Question Id : 342604911 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O

g B R 8 5 ; : Ve
The susceptibility of Al s 2x10° The percent mcrease m the magnetic field when the
space withi a current carrying torroid to filled with Al is:

Options :

2 107>
1. %

Zoc 10
2.«

alg
3. %

2x107

%
gcollegeduniag
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Question Number : 112 Question Id : 342604912 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A circular coil of area 100 c* & 20 tumms is kept in magnetic field of flux density
2 Wh-m?. It rotates from a position where its plane makes an angle of 30° with the
field to a posttion perpendicular to the field i a time 0.2 sec. Find the magnitude of the
emf mduced m the cotl due to 1ts rotation

Options :

2V
1. %

3V
2. %

1.5V
3. %

1V
4.

Question Number : 113 Question Id : 342604913 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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In the following circuit an AC input V. (t)=(20mV)sin (105 l) 15 applied at the left

end. The amplitude of the output voltage V, at the right end across the capacitor will

be:
10000
WWy 4
Vi) =108 F Vi
\
Options :
14.14 mV
1.4
10.55 mV
2. %
20.2 m\
3. %
2555 mV
4. %

Question Number : 114 Question Id : 342604914 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O
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In the following List A consists of wave length range of different of EM waves and
List B conststs of ways to produce them. Match the following

List-A List-B

A) 400nmtolom 1) Radioactive decay of the nucleus

B) >0.]mm [)  Vibration of atoms and molecules

() lmmto700nm 1) Rapid acceleration and deceleration of
electron 1n agrtals

D) <10” mm [V) Tnner shell electrons m atoms moving
from one energy level to a lower level

The correct match 1s

Options :
A B C D
I11 II I IV
1.
A B L D

II III 1Y I

gcollegedunias
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Question Number : 115 Question Id : 342604915 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

[na photoelectric experiment 3 different lights are meident on a metal of work function
1.5 V. Light A is 200 nm wavelength with tntensity 1.8 w/m®, light B 15 400 nm with
| wim* and light C is 600 nm with 0.5 win’. The current versus voltage is measured.
Which graphs correspond to which light?

Current
1/— I
/‘ I
0
/‘ IV
¢ / > Voltage
Options :
Light A Light B Light C
I I11 II
®
4
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Light A Light B Light C
I I1 IV

Light A Light B Light C

| III IV
3. %
Light A Light B Light C
I11 II IV
4.9

Question Number : 116 Question Id : 342604916 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O

A mono chromatic radiation of wave length / 15 meident on a hydrogen sample m
ground state the sample subsequently emuts radiation of six different wave lengths,
then the value of / 1s
[Use ch = 1242 ev-m]

Options :
80 nm
1. %
%
gcollegedunias
97.4 nn )
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8

N

S nm
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100.2 nm
4, %

Question Number : 117 Question Id : 342604917 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Find the radius of Be™ 1ons in its ground state assuming Bohr’s model to be valid

a.=)ipm).
(a,=53pm)

Options :

20 pm
1. %

18.2 pm
2. %

.

- 16.2 pm

13.2 pm
4.9

Question Number : 118 Question Id : 342604918 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Which of the following 1 correct with respect to the following statements?
Due to diffuston of electrons fromntop-side

(1) electrons are accumulated 1 the depletion region

(II) electron drft current 1s from p - side to n - side

(I1I) an tonssed donor 1s left i the n —region

(IV) electrons of 7 - side comes o p - side and electron- hole combination takes in p -
side

Select the correct option from the following.

Options :

(I) and (II)

(I) and (III)

2. %

(I) and (IV)

3. %

(1), (TIT) and (IV)

4.

Question Number : 119 Question Id : 342604919 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O
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[f n a p-n junction diode, a square wmput signal of 10 V 1s applied as shown

5V

5V~

Then, the output signal across Ry will be:

Options :

10V

N

VI

gcollegedunias



W

L l-1ov

gcollegedunias

~



5V

Question Number : 120 Question Id : 342604920 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

For an amplitude modulated wave, the maximum amplitude 1s found to be 10 V
while the minmum amplitude 15 found to be 4 V. The modulation mdex 1s

Options :
2
1. % >
2
3
#®

:
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Question Number : 121 Question Id : 342604921 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O
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Match the following

ListI
A) Chadwick D)

B) Rutherford II)
C) Mosley I1I)
D) J.J. Thomson IV)

The correct match 1s

Options :
A B
1AY I
1.
A B
I1I II
2.

I

1AY

List II
Cathode rays
X-rays spectra
Discovery of neutrons

Nuclear atom model

III
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Question Number : 122 Question Id : 342604922 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O

The number of radial nodes 1n 3s and 2p orbitals, respectively are

Options :

2.

2

(B

('Y

(B

B

:
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Question Number : 123 Question Id : 342604923 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O
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Which of the following 1s not a periodic property?
Options :

Atomuic size

1%
Electron atfinity
2. %
Radioactivity
3.
Ionisation potential
4. %

Question Number : 124 Question Id : 342604924 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O

Which of the following options represents the correct 1onic radit i A of
PN o e
N",07 andF", respectively?

Options :

:
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1.71, 1.36 and 1.40

1.36,1.40 and 1.71

gcollegedunias



1.71,1.40 and 1.36

3.

1.40. 1.36 and 1.71

Question Number : 125 Question Id : 342604925 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The order of the average bond length of the given bonds 1s

Options :

C=0xC=N=zC=C&N-0

1. %

C=C<cC=0<C=N<«N=0
2.

C=C<C=0<N-O<C=N
3. %

C=N<C=0<N-0<C=C
4,
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Question Number : 126 Question Id : 342604926 Question Type : MCQ Option Shuffling : Yes
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Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O
The shapes of BrFs and XeF4. respectively are
Options :

square pyramid, square pyramid

1.%

square planar, square planar
2. %

square planar. square pyramid
3. %

square pyramid, square planar
4.¥

Question Number : 127 Question Id : 342604927 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A Dalloon filled with an air sample occupies 3 L volume at 35 °C. On lowering the
temperature to T, the volume decreases to 2.5 L. The temperature T 157
[ Assume P constant]

Options :

:
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16 °C
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—16°C

2.¢
24 °C
3. %
—20 °C
4. %

Question Number : 128 Question Id : 342604928 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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The followmg graph mdicates the system contaming | mole of gas tvolving various
steps. When 1t moves from z to x, the type of undergoing process 1s

L= = = 1 Z
v N
WL b= = o i e o
1 |
7 300K 600K
Options :
Cyclic
1.

:
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Isothermal

2. %

Isochoric
3. %

Isobaric
4.

Question Number : 129 Question Id : 342604929 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O

100 g of a muxture of NaOH and Na;SOs 15 neutralized by 100 ml of 0.5M H,S0s.
What 15 the amount of NaySO4 present i the mixture?

Options :
82 g
1. %
96 g
2.
#®
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Question Number : 130 Question Id : 342604930 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O

Which of the following 1s not a disproportionation reaction?

Options :

CL(g)+20H (aq) > ClO (aq)+Cl (aq)+H,O

F,(g)+20H (aq) — OFE,(g)+2F (aq)+H,O()

2. ¢

4Cl1O; (aq) > Cl (aq)+3ClO, (aq)

3. %
3C10 (aq) —» 2C1 (aq)+ClO; (aq)

Question Number : 131 Question Id : 342604931 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0

Which of the following relation 1s correct?

Options :

:
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dG =VdP + SdT

1. %

dG =VdP — SdT
2.

AG =-RT n(K)
3. %

dU =PdV + T dS
4. %

Question Number : 132 Question Id : 342604932 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The successive equilibrium constants for the stepwise dissoctation of a tribasic actd
ate Ky, Ky and Ks, respectively. The equilibrium constant for the overall dissociation
1§

Options :

(K1 +K; + K3)

{/(K1+K2+ K;)
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(Kyx Ky x K,
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K% K; % K;

4.

Question Number : 133 Question Id : 342604933 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O

For the reaction H,(g)+1,(g) ——2HI(g)

Options :
K;,=K.#0
1.
Kp > K¢
2. %
Kp < Kc
3. %
Kp=Kc=0
4. %

Question Number : 134 Question Id : 342604934 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0

The compound used as a moderator i nuclear reactors 1s
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Options :

BeD»
1 %

D202
2. %

D-0O
3.9

NaD
4. %

Question Number : 135 Question Id : 342604935 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Assertion (A): LiCl and MgCl, are soluble 1 ethanol

Reason (R)  : Lithium and magnestum are harder than their respective group

The correct option among the following 1s

Options :

(A) 1s true, (R) 1s true and (R) 1s the correct explanation for (A)

#®
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(A) 1s true, (R) 1s true but (R) 1s not the correct explanation for (A)

gcollegedunias
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(A) 1s true but (R) 1s false
3. %

(A) 1s false but (R) 1s true
4. %

Question Number : 136 Question Id : 342604936 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Match the following

List I List IT
Compound Physical/Chemical property/name/ structure

A) H;BO; I)  Dmeric form
B) AlCl; II) Back bonding
C) BsNsHs [ll) Hydrogen bonding

D) BF: IV) Inorganic benzene

The correct match 15

® gcollegedunias



Options :

1.
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I

A

111
2. %

A

111
3. %

A

111
4.

II

III

II

IV

\Y

II

Question Number : 137 Question Id : 342604937 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O
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The correct statements from the below is

() Charcoal can be obtamed on heating wood 1n absence of air

(I)  Charcoal is impure form of graphite

(1) Diamond 1s thermodynamically the most stable allotrope of carbon
(

v

IV)  Coke 15 used as an oxydizing agent durmg the extraction of won from its ores

Options :

1.

gcollegedunias



(I) and (III)

(IT) and (IV)

2. %

(I) and (IV)
3. %

(I) and (II)
4.9

Question Number : 138 Question Id : 342604938 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O

The fluoride 1ons make the enamel of teeth much harder by convertmg, which of the
following substance / compound

Options :

| 3Mg, (PO, ),Ca(OH), |

[3(‘33 (PO,), -Ca (OH),]

2.

) collegedunia:
[3Ca, (PO, ), -CaF, | # collegedunia

®



gcollegedunias

~



| 3Ca, (PO, ), -MgCl, |

Question Number : 139 Question Id : 342604939 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Metamerism can be exhibited by the compounds containing

Options :

monovalent functional group

1%
bivalent functional group
2.¢
double bond
3. %
triple bond
4. %

Question Number : 140 Question Id : 342604940 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0
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In which of the following reactions, t-butyl benzene 1s formed

(I)  Benzene + t- Butyl Chloride ﬂ)
(I Benzene + (CHs), C=CH, ELl kLN
(IIT)  Benzene + t- Butyl alcohol HR0, >
i . AlCl,
(IV)  Benzene + Butanoyl chloride , >
Zn/HCl

Options :

1.

3.

4.

(). (IT) and (III)

4

®

#®

(IT), (III) and (IV)

(I), (II) and (IV)

(I), (I1II) and (IV)

Question Number : 141 Question Id : 342604941 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Correct Marks : 1 Wrong Marks : O

The total number of overlapping p- orbitals present m cycloheptatrienyl cation is

:
gcollegedunlas
India’s largest Student Review Platform



Options :

1. %

S
2. %

6
3. %

;
4.9

Question Number : 142 Question Id : 342604942 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

An alloy made up of A and B metals crystallizes m a cubic lattice, where B atoms
occupy the corners and A atoms occupy the face centers. The formula of the alloy
formed 1s

Options :
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Question Number : 143 Question Id : 342604943 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following mixture form an 1deal solution?

Options :
CCl, +CH,
1. %
CHCl, +C H,
2. %
H,0+CH,OH
3. %

n—=C. ..+ n—=C Il
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Question Number : 144 Question Id : 342604944 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0

The freezmg point of an aqueous solution containing 25g of ethanol 1 1000g of H;0
is [K¢=1.86 K kg mol"]

Options :

0D.25 C
1. %

0.5
2. %

—1.5 °C
3. %

—1 °C
4.«

Question Number : 145 Question Id : 342604945 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O
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A metal plate of dimension of (1  2em®) has to be coated on both the sides by Cu
metal. How long does 1t take to deposit Cu of 0.01cm thickness, if 1.5A current is
used?

[Electrochemical equivalence of Cu is 0.0003 /e and the density of Cuis 9 g/em’]

Options :

1.

gcollegedunias



400s

800s
2.

120s
3. %

160s
4. %

Question Number : 146 Question Id : 342604946 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O

For a reaction A+B — P, the following data are provided

Entry [A]JmM  [B]mM  Initial rate (M/s)

| 0.02 0.02 2x1072
2 0.02 0.04 4x107
3 0.04 0.04 8x10

The rate constant for this reaction 1n standard unit 1s
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Options :

5
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2. %

2.4 % 10°*
3. %

50
4.9

Question Number : 147 Question Id : 342604947 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O

For precipitating Fe(OH), sol, the best precipitating agent 1

Options :
Na,SO,
1. %
Cr(OH),
2. %
#®
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Al(OH),

Na,[Fe(CN),]
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Question Number : 148 Question Id : 342604948 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O

Sulphur on boiling with NaOH solution forms

Options :
Na,S,0,+Na,S
1.
Na,S0,+SO0,
2. %

Na,S,0,+NaHSO,

3. %

Na,SO,+H,S

Question Number : 149 Question Id : 342604949 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O
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Commercial name of Peroxydisulphuric acid 1s

Options :

1.
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Marshall’s acid

Caro’s acid

2. %

Oleum
3. %

Fuming sulphuric acid
4. %

Question Number : 150 Question Id : 342604950 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O

Which of the following does not exist?

Options :
XeOF,
1. %
NeF,
2.¢
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XeF,
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Xek,

Question Number : 151 Question Id : 342604951 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The element with highest standard reduction potential (in Volt) [M** - M] among
the I* row of transition elements 1s

Options :
T1
1. %
N1
2. %
Cr
3. %
Cu
4.
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Question Number : 152 Question Id : 342604952 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O
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The correct order of field strength of the following ligands 1s
Options :

N> >C,0,” >NH, >CO

1. %

N*>NH, >C,0,” >CO
2. %

CO >NH,>C,0,” > N*"
3. ¢

CO>N">NH,5C,0,”
4. %

Question Number : 153 Question Id : 342604953 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O

The Zwitter 1on among the following 1s

Options :

%
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I
R—-CH-C—-OH

|
NH,
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O

TR
|CH—C—OH2
NH
S
Ol
R C|H - C =OH
o NH;
3. %
0
B - i@ -0
oNH,
4.

Question Number : 154 Question Id : 342604954 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O
The Swarts reaction yields

Options :

Iodohydrocarbons
1, %
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Fluorohydrocarbons

Bromohydrocarbons
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Chlorohydrocarbons

Question Number : 155 Question Id : 342604955 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The major product of the following synthetic reactions 1s

1) CL,,hv
11) alc. KOH
CH.CL,CH, >
i) Cl, 773K
1iv) AgOH(aq)
Options :
O
H3C‘J\C'H3
1. %
CH.CH,CHO
2. %
CH..=CHCH.OH
3.V i i
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CH,CH,CH,OH
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Question Number : 156 Question Id : 342604956 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The major product of the following reaction sequence 1s

NH,

1) NaNO, , HCl, 273-278K

L4

i1) H,0, warm
iii) Br, (excess)
1v) NaOH

v) CHI

Options :
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3.
OCH,
Br Br
W
OCH :
Br
. Br
#
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OCH,

Br Br
Br
OCH,
Bl‘ Bl‘
Br
4.

Question Number : 157 Question Id : 342604957 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O

The molecular formula of the fial product of the followimg synthetic scheme 1s

1) KCN
Benzyl lodide ———
1) CH,MgBr
i) H,0"
Options :
w
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C,H,,0

4.

Question Number : 158 Question Id : 342604958 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O

The major product formed when salicylaldehyde 15 reacted with 2 equivalents of
bromine 1 glactal acetic acid at 0 °C

Options :
Br
OH
CHO
1. %
Br
OH
e CHO
2.¢
®
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OH

Br CHO

Br OH

4, %

Question Number : 159 Question Id : 342604959 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Identify the mcorrect statement regarding acetic acid

Options :

Acetic acid 15 obtained when calcrum acetate 1s distilled 1w the presence of

calcium formate
1.

Acetic acid 1s used 1n curing meat and fish

Anhydrous acetic actd 1s known as glacial acetic actd because 1t forms 1ce like
solid below 16.6 °C

3. %
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The catalyst used 1 the conversion of acetic acid to trichloroacetic acid 1s red

phosphorous
4. %

Question Number : 160 Question Id : 342604960 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The correct order of basic strength of the following amines 1s

NH,
-
» NH,
\i N
H
() (IT) (III) (IV)
Options :

(D) > 1) > (IV) > (II)

(1D > (I) > (IV) > (1II)
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(D) > (II) > (III) > (IV)

() > (II) > (ID) > (IV)

gcollegedunias



gcollegedunias

~



